A & 0l & AtES & Al

2 SA
2N =N
ANsd8Es =& & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JESA 3,508,511 3,888,063 A384,542
23 F& 3,321,123 3,776,009 A454,886
ANsdEst =& gaf 343,824 1,194,742 A850,918
AB BE5 1S 81,901 68,994 12,907
101 21AH| 19,183 0 19,183
04 JIZtN2Z2XNSE+ 19,183 0 19,183
ORI (NS WFH) 19,183
>llEs 2,386,780 x1&+7& 16,708
D> oAXtg 11,4202 +BAI 21862 549
>=UASRES 17,255,6202 4. 5% 77
PAHLEE= 17,255,620 %3.545% 612
PEIVNQAYEEZ 611,720 %12.81% 9
PHNESEE 17,255,6202 *1.75% 302
DAES = 17,255,6202 0. 9% 156
201 er23| 57,918 16,094 41,824
01 AtR2t2|HI 57,918 12,590 45,328
OANYEEst Y g2l
550,000 * 122 6,600
ONEIEESDEE D 7Y
8,000& 1,500 12,000
OANSEEs s ISIH FA22ES
526,500 x 12 6,318
OAIEEStNREY LAl=H
3,000,000 «11& 33,000
202 04| 4,800 4,800
01 =LHO LI 4,800 4,800
OAI2IE =25t HRFA0H|
400,000& 122 4,800
SR8 d=25u=s 2,640 2,505 135
201 er23| 2,640 2,506 135
01 AtR2t2|HI 2,640 0 2,640
O=sFd 2 usd WS 7AA2S
B 2,640,000 14! 2,640
SHOIX 29 240,383 120,483 119,900
201 =3 92,383 92,483 A100
01 At22t2lH] 88,753 1,400 87,353
OSHOIX S RX2elE&d
87,553,000 * 14| 87,553
OZHI0IA &28= 2
1,000,000 %14 1,000
OZMOIXRl M= QSN HAlZ
200,000 *14] 200
2 S52g4l 3,630 91,083 A\87,453
OSHOIX 4201 MHIA 0182
300,000 122 3,600




SN HRESAD
M ZESAEY =
el Nsd2e == &y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oknlg Are= 30,0003 *14] 30
202 04l 6,000 6,000
01 =LHOHI 6,000 6,000
OZH0IX2g gFF80i|
500,000 * 12 6,000
207 AR 142,000 22,000 120,000
02 MAPHEHI 142,000 22,000 120,000
OSEUHAAIAE A=
120,000,000 * 14| 120,000
OSHI0IXl JIsHe 22,000,000 » 14 22,000
A0tEEZ2E 29 18,900 2,760 16,140
201 eer23y| 18,900 2,760 16,140
01 AtR2t2|HI 18,900 0 18,900
OANtEdZY 2d+8HI
3,000,000 *14] 3,000
OADIEEZE HH| |A2cIEY
14,700,000 * 14| 14,700
OANIEEZRY SEZZ 0 H2LUAMH
150,000 x2 2 2H+43] 1,200
ANsdEs Jlgt 25 713,056 415,092 297,964
ANsELe2As 29 1,260 1,260 0
201 fer= 3| 1,260 1,260 0
01 At 2|l 1,260 1,260 0
OXsEEst?ds HH=+H
70,0002 x0H *23] 1,260
ATEN MHFH 404,2% 185,629 248,667
201 Ler23 | 404,2% 185,629 248,667
01 At2t2ltl 404,29% 185,629 248,667
OgeE SW =g 404,2%6
>MS-Office 263, 2203 +880H 231,634
>et=2 102,000 »900K 91,800
>l 28,5703 x1,2000H 34,284
>AUTO CAD 2,218,000 21H 46,578
ATZEO(SH) DIHHS(2HEEXIH) 307,500 250,000 57,500
308 AHXIEMSOIH 307,500 250,000 57,500
18 SIS0t HAS A 307,500 250,000 57,500
LZEOI(SN) OIHHS
307,500,000 x 14 307,500
HHEHE e Iy st 1,082,226 902,364 179,862
HHHEALE 2 495,560 427,490 68,070
201 =3 229,560 270,490 240,930
01 At22t2l] 217,560 61,000 156,560
OdEAIAE SERA2C
211,560,000 x14] 211,560




FA 32SA
M HESAY XA
Chel: HZEZES JIgH=ASt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OdMAIAEA 29 6,000,000& 14| 6,000
2 33=24t 12,000 209,490 A197,490
O HZMAMHIA OlE2(HAH, S4l)
500,000 * 12 6,000
OIPILESE AIE= 500,000& * 122 6,000
405 KHakE SH 266,000 157,000 109,000
01 Tt =S F=HI 266,000 157,000 109,000
OHFGRAAHY SEAEIXI(1H)
266,000,000 x 14 266,000
2o Yet 51,000 8,000 43,000
201 fer23| 8,000 8,000 0
01 AtR2t2|HI 8,000 8,000 0
Ocl=sA AHE 2l S/ 7Y
400,000 *200H 8,000
308 AXIHMSO0IA 43,000 43,000
13 SI[2S0He 4 A AS A 43,000 43,000
O3FA BE2SHA &
43,000,000 * 14 43,000
A27t SSIIEAIAE 29 158,387 165,899 AT,512
201 er2&| 32,387 39,899 AT7,512
01 At2teltl 31,887 2,000 29,887
OMSZEANAY SN =2X22EH
23,625,000 * 14 23,625
O=SEdIEE elllAAE SX2els8S
6,262,000 * 14 6,262
oy 225 F#Y 2,000,000& *14] 2,000
2 ZZ2H| 500 37,89 A37,399
OFNVUVET HUE ASHHIA 082
500,000 *14] 500
308 AFARIEHMSOIE 126,000 126,000
183 S| 2SO ZB XA AIE 126,000 126,000
O53J1Et & MlH=THAAE =X 2
119,000,000 * 14! 119,000
OXNLHYSSIZAIAE MHIANAT 2
g 7,000,000 14] 7,000
JISE 2c2E 170,880 119,080 51,800
201 fer23y| 114,880 114,280 600
01 AtR2t2|HI 107,080 106,480 600
OS2 (e2td) 22|
2,000,000 128 24,000
OJIE2 &l 2238 7Y
10,000,000 * 14| 10,000
O2AM(RE2) H&8d
62,000,000& * 14 62,000




FA 32SA
M HESAY XA
ool HEFE3 |t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
QHIIIES IIME4
6,600,000& 14 6,600
OmBRNAE BHALY
70,0008 x4 %153 4,200
OIIZSEIIAILIS| EM LT
70,0002 x2H #23] 280
02 S5=g4l 7,800 7,800 0
Okd 2NEs R8R=
200,000 x 122 2,400
OAIE2EHl |X2L 450,000« 12& 5,400
202 04| 6,000 4,800 1,200
01 =LHOLI 6,000 4,800 1,200
OJisaci2g gRF30t|
500,000 * 122 6,000
405 AHaHE = 50,000 50,000
01 ML ESF SHI 50,000 50,000
Ogr2tal THED 50,000,000 1CH 50,000
HNEMALE 2 151,35 125,352 26,004
201 er=23y| 39,976 16,752 24,224
01 AtR2t2|HI 39,976 5,100 34,876
O=Lliet 2A2.0 sd8He &4
35,000,000 *14! 35,000
OJI=& EHOIX =A2eISS
2,600,000 *14] 2,600
OMIDZSIAIAE SW RX2el8R
2,376,0002 %14 2,376
308 AtXIEHMSOIE 111,380 109,600 1,780
18 SIS B HASAIE 111,380 109,600 1,780
OJIS2eIANAY =72
41,780,000& *14] 41,780
OSEZO0tAIAE S/W S22l
5,600,000 * 14 5,600
O2LIZtAIAY NBIAHAT 28 R o8 S
W =Xl2e] 57,540,000 x 14 57,540
OJIsE2FR2L (BRNAIAE DESHRIXHHE
Z2E23) 6,460,000 * 14 6.460
HeIHEES L3t 55,043 56,543 21,500
201 Ler23 | 55,043 56,543 21,500
01 At2teltl 40,043 3,000 37,043
ONRIEEES 8225 7
2,500,000 *14] 2,500
OEHSB AIAE SN RA22IES
5,001,000 14 5,001
OMAEE HHIIZ2AL/AAY SN RXI2
clE24 13,018,000 * 14| 13,018




FA 32SA
M HESAY XA
Chel: HZEZES JIgH=ASt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OPCHRIEEESAIAE S/W |A22IES
6,420,000 *14] 6,420
OUMEAXIAIAE SW RA2A2IES
13,104,000 * 14 13,104
02 s3=gHl 15,000 53,543 A38,543
OMUBEES HiaMUBHZ
15,000,000 * 14| 15,000
JESAAIE Eet NEs 1,182,017 1,263,811 AB1,7%4
AL SMY 29 568,800 568,800 0
201 Ler23| 565,200 565,200 0
2 s5=34l 565,200 565,200 0
OtolHaId2(EH, 155, S42)
31,200,000& «12& 374,400
OdsArEZ (Y, L)
11,000,000& «12& 132,000
Ol (AsL)ald AIER
800,000& * 122 9,600
OZXHHIAIXI(SMS) At =
4,100,000& 123 49,200
202 04| 3,600 3,600
01 =LHOHI 3,600 3,600
OdHEEESA HRFA 0
300,000 * 122 3,600
&Y SAAIE - ZHl |2 204,181 293,809 A\89,628
201 er23 | 157,827 154,149 3,678
01 At2teltl 157,827 12,000 145,827
OdFySY |2l 223
1,000,000& 122 12,000
OIPTAIAE RXI22IES
49,701,000 *14] 49,701
OMEAIAH L EoHEH| |X22IEN
46,957,000& x14] 46,957
OUEAIEH FAl&cE8H
14,152,000 * 14 14,152
OSatHHI(WN) SA22IE
21,177,000& 14| 21,177
OG &AL 222 SH
3,100,000 14| 3,100
OXTHAAAI A S/W KX 2e8S
5,940,000 14 5,940
OSRHEUHAEXI(S) =Xzl
4,800,000 * 14 4,800
401 Al HIZL S 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
OFUSLIAIE ol 10,000, 000& »23] 20,000
405 AHatE = 26,354 119,660 A\93,306
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